



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(-\frac{1}{3}\right) - \frac{1}{5} =$$

$$\left(\frac{1}{6}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} =$$



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(-\frac{1}{3}\right) - \frac{1}{5} = \left(-\frac{8}{15}\right)$$

$$\left(\frac{1}{6}\right) - \frac{1}{3} = \left(-\frac{1}{6}\right)$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{6}{25}$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{5} = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{6} = \frac{37}{216}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{11}{36}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{101}{375}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{37}{75}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{1}{20}\right)$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{76}{125}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) = \frac{653}{1080}$$

$$\left(-\frac{1}{6}\right) + \frac{3}{5} = \frac{13}{30}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right) - \frac{3}{4} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{107}{216}$$